Ratio to ATLAS

d Nth
sum E;

0.5

sum E_ [GeV]

7000 GeV pp Underlying Event
= [ N A B IR B N L L N =
— . - <
sum ET (2.4 < | <3.2, "™ > 0.5(0.2) GeV, E‘Tl‘2 > 20 GeV, 2| < 25%
= ==
— 3
L —_{LO
- — Nl
= E = —=°
= u " m S
_ u J1@
>
= . El
- . .
= &le)
™
— <
(90
= =
— 0O
— .. — ™M
e —
T T e _] 2
= — >§
= --3-- Herwig 7.2.0 default = %
— —a— Pythia 8.186 default ) =
=~ ¢ Sherpa 1.3.1 default g =09
- 13
o
e — (@]
El | | | | | | | | | | | | ' | | |E E
:l T T T T | T T T T | T T T T |:
— =2
1
L —0.5
| " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " |
0 10 20 30



	Contents
	Page 1


